PIASTRE MOTORE
ENGINE MOUNTS

N~
i
%
[

(Comer engine)

In vigore dal - Effective from 15-12-2021

38



Rif. ENGINE MOUNTS ¥

Description Tax included
A |0038.D0D IV UIYVh MG 92x30mm Inclined MG engine mount 92x30 mm 27,830
A |0038.DODF IVY'UTIUh MG 92x30mm /R pZE Inclined MG engine mount 92x30 mm drilled 29,480
B |0038.DACF IVY"URIVh MG 92x30mm OK-DST Inclined MG engine mount 92x30 mm OK 29,480
C |0038.DOEF IVY'UTIUh MG 92x30mm OK-DVS Flat MG engine mount 92x30 mm OK - DVS - X30 29,480
D [0038.A0 Inclined AL engine mount 92x28 mm 14,960
D |0038.A0F Piastra motore AL inclinata 92 x 28 mm forata |Inclined AL engine mount 92x28 mm drilled 0
E |0038.R28 779hIVY YRV 92x28mm Flat AL engine mount 92x28 mm Rok 16,720
E |0038.R30 779h10Y U9V 92x30mm Flat AL engine mount 92x30 mm Rok 16,720
E |0038.R32 779MIVY URYIVE 92x32mm Flat AL engine mount 92x32 mm Rok 16,720
F  0038.AB Piastra motore AL inclinata 92 x 28 mm Engine mount AL Mini / Mini Kid drilled 0
H (0038.D0A1 Distanziale piastra motore DD2 8 mm DD2 engine mount spacer 8 mm 0
| 0038.D0A5 Distanziale AL piastra motore DD2 21 mm AL DD2 engine mount spacer 21 mm @30 mm 0
J  [0039.AA28A IVYURIVET 39k 92x28mm AL engine mount bracket 1 screw 92x28 mm 4,400
J  |0039.AA30A IV URIVRTF9b 92x30mm AL engine mount bracket 1 screw 92x30 mm 4,400
K ]0039.VA30A AL rear engine mount bracket 2 screws 92x30 mm 4,400
L |0039.v28 IVYURIVNT Gk 92x28 877 WARYY2- AL engine mount bracket 2 screws 92x28 mm 4,400
L |0039.v32 IVYUIIURT Tk 92x32 47 WAYY 1~ AL engine mount bracket 2 screws 92x32 mm 4,400
M  |0039.V28A IVY UIIVRT Gy 92x28 47T N AYY1—hyh AL rear engine mount bracket 2 screws 92x28 mm 4,400
M |0039.V32A IVY URIVFI F9b 92x32 4" W RYYa—hyt AL rear engine mount bracket 2 screws 92x32 mm 4,400
N (0039.AB28 ?a";l:‘ll:tto piastra motore AL 1 vite 28 mm Mini{,, engine mount bracket 1 screw 28 mm for Mini and Micro 3,520
O |0039.AB28A a?rzliaﬂoh::rzosteriore piastra motore AL 1 vite 28 mm ) oo engine mount bracket 1 screw 28 mm for Mini - Micro 3,520
P  |0038.EA C(:;'::Ptto superiore AL Microper motore AL upper bracket for Micro Comer engine 0
Q |0039.EA {S\a;’:lrmtto inferiore AL Microper motore AL lower bracket for Micro Comer engine 0
R |V.TCE10X35 F497°H b 10X35 TCEI screw 10x35 mm 132
R [V.TCE10X40 497K L+ 10X40 TCEI screw 10x40 mm 132
R  |V.TCE10X50 $497"k Wb 10X50 TCEIl screw 10x50 mm 143
S [V.TCE8X35 F497°K I+ 8x35 TCEIl screw 8x35 mm 88
T |0110.B0 IVY YR =Z4Y1~/100cc M10 chain strecher for OK 1,540
U [0110.A0 IVY YAbYN=R9Y1~/125¢c M10 chain strecher for KZ 1,760
V  (0109.B0A IV YAMN—AY)1—/125¢cc Long M10x50 mm long chain strecher 1,540
W |0109.BB IVY VAN -/1256¢ AL support for M10 chain strecher 4,400




